Chapter 11   Financial Statement Analysis

Solutions to Odd-Numbered Problems

	CHAPTER 11
	
	Financial Statement Analysis




	E11.5.  
	  

	
	Key data would be the recent (3‑5 year) trends in earnings per share, cash dividends per share, market price, and P/E ratio.  These data would be in tabular and graphic format.  Market price would be noted weekly.  Quarterly and annual data to note are earnings and dividend trends.  The sell/hold/buy decision is based on stock price performance relative to the price objective established from analysis of the above data.


	E11.7.  
	
	
	
	

	
	Transaction/event
	Financial ratio
	+/-
	Explanation

	a.
	Split the common stock 

2 for 1.
	Book value per share of common stock
	-
	The denominator doubles so the BV/share will be ½ of the original.



	b.
	Collected accounts receivable.
	Number of days’ sales in accounts receivable
	-
	Decrease in accounts receivable with no effect on average days’ sales.



	c.
	Issued common stock for cash.
	Total asset turnover
	-
	Increase in average total assets with no effect on sales.



	d.
	Sold treasury stock.
	Return on equity
	-
	Increase in average stockholders’ equity with no effect on net income.



	e.
	Accrued interest on a note receivable.
	Current ratio
	+
	Increase in current assets for interest receivable.



	f.
	Sold inventory on account.
	Acid-test ratio
	+
	Numerator increases (inventory is replaced with accounts receivable but for a larger amount).



	g.
	Wrote off an uncollectible account.
	Accounts receivable turnover
	NE
	Net realizable value of accounts receivable is not affected by the write-off entry.



	h.
	Declared a cash dividend.
	Dividend yield
	+
	Dividends per share increase with no determinable effect on market price per share.



	i.
	Incurred operating expenses.

	Margin
	-
	Expenses reduce net income.

	j.
	Sold equipment at a loss.
	Earnings per share
	-
	Losses reduce net income.


	P11.9.  
	

	
	CAMPBELL SOUP COMPANY
Common Size Balance Sheet
August 1, 2010

	

	
	Total current assets







       26.9%

Plant assets, net of depreciation





       32.7
Goodwill








       30.6
Total other long-term assets

 




         9.9
Total assets








    100.0%*
Total current liabilities






       32.9%

Total long-term liabilities (including deferred taxes)



       52.3
Total equity








       14.8 
Total liabilities and equity






    100.0% 


	
	* Adds to 100.1% due to rounding of individual items. 


	P11.11.

a.
	Working capital = (current assets - current liabilities) = CA - CL = $300,000

Current ratio = (current assets / current liabilities) = CA / CL = 2.0

Solution approach:

1. In the current ratio equation, multiply both sides by CL, giving: 

             CA = 2CL

2. In the working capital equation, substitute 2CL for CA, giving: 

                          2CL - CL = $300,000

                          Current liabilities = $300,000
3. Current assets can be determined as: CA = 2CL = (2 * $300,000) = $600,000

	

	  b.
	Current assets = (Cash + Accounts Receivable + Merchandise Inventory) = $600,000

Current liabilities = $300,000

Current ratio = 2.0

Acid-test ratio = 1.5

Solution approach:

1. The difference between the current ratio and the acid-test ratio is that Merchandise 
     Inventory is excluded from the numerator of the acid-test ratio.

2. The numerator of the acid test ratio = (CL * 1.5) = ($300,000 * 1.5) = $450,000, 

    which represents Cash + Accounts Receivable.

3. $600,000 - $450,000 = $150,000 Merchandise Inventory.


	P11.11.

c.
	(continued)

Solution approach:
The journal entry for collecting an account receivable involves a debit to one current asset (Cash) and a credit to another current asset (Accounts Receivable).  Thus, current assets do not change in total, and there is no effect on working capital or the current ratio.  Current ratio = 2.0   Working capital = $300,000

	
	

	d.
	Solution approach:

The journal entry for the payment of an account payable involves a debit to a current liability (Accounts Payable) and a credit to a current asset (Cash).  Thus, current assets and current liabilities decrease by an equal amount, and there is no effect on working capital.  However, the current ratio increases because current assets become proportionately higher than current liabilities.

                                                                                                        Before                After 

Current assets (A)




          $600,000           $500,000

Current liabilities (B)




            300,000             200,000

Working capital (A - B)



            300,000             300,000
Current ratio (A / B)




                   2.0                     2.5



	e.
	Solution approach:

The journal entries for the sale of inventory would be: 

Dr.  Cash  (included in acid-test numerator)


    60,000

      Cr.  Sales






                       60,000

Dr.  Cost of Goods Sold





    50,000

      Cr.  Merchandise Inventory (excluded from acid-test numerator).                       50,000  

By selling inventory for cash, Arch Company will improve its acid-test ratio to 1.7 because a current asset that is included in the acid-test numerator (Cash of $60,000) will replace a current asset that was previously excluded from the acid-test numerator (Merchandise Inventory of $50,000).

Acid-test ratio = Cash (including temporary cash investments) + Accounts receivable 

                                                            Current liabilities

Before transaction:                       After transaction:

$450,000 / $300,000 = 1.5            ($450,000 + $60,000) / $300,000 = 1.7


	P11.13.  
	

	a.
	                       ROI                          =              MARGIN              x                      TURNOVER  

            NET  INCOME                             NET  INCOME                                       SALES                  . 
AVERAGE TOTAL ASSETS      =               SALES                 x         AVERAGE TOTAL ASSETS
2014 ROI = ($192  / $3,050) * [$3,050  / (($3,090 + $2,811) / 2)]

                = 6.3% margin * 1.034 turnover = 6.5%

2013 ROI = ($187  / $2,913) * [$2,913  / (($2,455 + $2,811) / 2)]

                 = 6.4% margin * 1.106 turnover = 7.1%

	
	

	b.
	ROE  =  Net income / Average stockholders' equity

2014 ROE  = $192 /  (($1,007 + $1,026) / 2) = 18.9%

2013 ROE  = $187 /  (($918 + $1,026) / 2) = 19.2%

	
	

	c.
	                                                                                                     2014       2013       2010
Current assets






     $677       $891       $736

Current liabilities





     (562)       (803)      (710)
Working capital





     $115       $  88       $  26
Current ratio (current asset / current liabilities)



        1.2          1.1          1.0


	d.
	Earnings per share = Net income / Weighted average number of shares outstanding

2014 EPS = $192 / 41.3 = $4.65

2013 EPS = $187 / 46.7 = $4.00

	
	

	e.
	Price/Earnings ratio = Market price / Earnings per share

13 = $???  /  $4.65

Market price = $60.45

	
	

	f.
	Cash dividends per share = ($50 million total cash dividend / 41.3 million weighted average number of shares outstanding) = $1.21
Dividend yield = ($1.21 cash dividend per share / $60.45 market price per share) = 2%

	
	

	g.
	Dividend payout ratio = ($1.21 dividend per share / $4.65 earnings per share) = 26%

	
	

	h.
	Average days' sales = ($3,050 sales / 365 days) = $8.356 million 

Number of days' sales in accounts receivable = ($309 accounts receivable / 

         $8.356 average day's sales) = 37.0 days

	
	

	P11.13.
i.
	(continued)
Debt ratio = Total liabilities / (Total liabilities + Total stockholders' equity)

12/31/14 Debt ratio = ($562 + $1,521) / $3,090 = 67.4%

12/31/13 Debt ratio = ($803 + $982) / $2,811 = 63.5%

Debt/equity ratio = Total liabilities / Total stockholders' equity

12/31/14 Debt/equity ratio = ($562 + $1,521) / $1,007 = 207%
12/31/13 Debt/equity ratio = ($803 + $982) / $1,026 = 174%

	
	

	j.
	Times interest earned = Operating income / Interest expense

For 2014:  = $296 / $84 = 3.5 times
For 2013:  = $310 / $65 = 4.8 times


	k.
	A young, single professional would probably be more interested in potential growth of capital rather than current dividend income, and would probably be willing to invest in a stock that represented a relatively risky investment.  Based on these criteria, the significant growth in earnings per share and the relatively high financial leverage could make this stock an attractive, though risky, potential investment.  

The liquidity of the company is relatively low, based on an "average" current ratio of 1.0.  Without further information about the composition of the current asset and current liability accounts, it is difficult to assess the firm’s liquidity.

The company's ROI is relatively low, and the two‑year trend is down.  This would be a major concern, and the reasons for this situation would be sought.  The price/earnings ratio of 13 is typical for a firm with a falling ROI; the fact that the P/E ratio has remained within the “normal” range may indicate that future earnings prospects for this firm are fairly strong.
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